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Completing and analysing a statement of financial position (balance sheet)
Learning aim C (Topics C.1 and C.2)
A statement of financial position (balance sheet) is a snapshot of a business on the day the statement is prepared. It lists the business’s assets and liabilities and shows how the business is funded and whether it is using its funds wisely. These tasks will help you to find out more about statements of financial position.
Your tasks
1 Nikki owns a fashion boutique selling vintage clothes and accessories. She is completing her statement of financial position. She has entered the £10,000 she invested in the business as well as her other liabilities. She has listed her assets below.
	Van
	£2,400

	Stock
	£6,700

	Cash 
	£1,500

	Customers who owe money
	£1,300


Complete the statement of financial position below and calculate Nikki’s:

a current assets
b total assets
c working capital
d total assets less current liabilities.

	ASSETS
	£
	£

	Fixed assets

    Van
	
	2 400

	Current assets

    Stock

    Trade receivables

    Cash
	    
    6 700

1 300

1 500
	9 500

	Total assets
	
	11 900

	LIABILITIES
	
	

	Current liabilities

    Trade payables

    Overdraft
	1,700

200
	1,900

	Working capital (net current assets)
	
	7 600

	Total assets less current liabilities
	
	10 000

	Shareholders’ funds

    Share capital
	10,000
	


2 Nikki wants to buy some special vintage dresses for £2,000. She pays £500 in cash and increases her overdraft by £1,500.
Complete a new statement of financial position that includes this information.

	ASSETS
	£
	£

	Fixed assets

    Van
	
	 2400

	Current assets
    Stock

    Trade receivables

    Cash
	
8700
1300

1000
	
11000

	Total assets
	
	13400

	LIABILITIES
	
	

	Current liabilities

    Trade payables

    Overdraft
	1700
1700
	

3400

	Working capital (net current assets)
	
	7600

	Total assets less current liabilities
	
	10 000

	Shareholders’ funds

    Share capital
	10 000
	


3 A year later you see Nikki again. She shows you her completed statement of financial position. Analyse the statement below and explain two actions Nikki could take to improve her finances.
	ASSETS
	£
	£

	Fixed assets

    Van
	
	2,100

	Current assets

    Stock

    Trade receivables

    Cash 
	15,500
4,200

500
	20,200

	Total assets
	
	22,300

	LIABILITIES
	
	

	Current liabilities

    Trade payables

    Overdraft
	7,300

5,000
	12,300

	Working capital (net current assets)
	
	7,900

	Total assets less current liabilities
	
	10,000

	Shareholders’ funds

    Share capital
	10,000
	


Reduce current liabilities, especially overdraft, which will be expensive to have.
_________________________________________________________________________
Try to pay off ‘payables’ sooner
_________________________________________________________________________
Hold more of the current assets in cash form / reduce stock (inventory) holdings.
_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________
Activity sheet 11
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